

	inspection Type	5cheduled	Assigned To	Completed Date	Result	Status
1	final Structural	2/12/15	J.Stubbs	2/12/15 11:14	Approved	Completed
2	Final Fire Inspection	2/11/15	C.Torrey	2/11/15 15:17	Approved	Completed
3	Other Structural	2/9/15	D.Blackburn	2/9/15 15:01	Approved	Completed

Number of Paid Inspections:	3	5	150.00	\$450.00
Number of 1/2 Hour Inspections:	1.5	\$	75.00	-\$112.50
Number of Inspections Paid but not Completed:	0	-\$	150.00	\$0.00
		Tota	al Refund:	-\$112.50



	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Fire Inspection	6/25/15	J.Gray	6/25/15 0:00	Approved	Completed
2	Final Fire Inspection	6/19/15	T.Furch	6/19/15 14:32	Correction	Completed
3	Final Structural	6/17/15	H.Gwin	6/17/15 13:25	Approved	Completed
4	Ceiling / Act	5/1/15	H.Gwin	5/1/15 10:12	Approved	Completed
5	Foundation	4/20/15	J.Stubbs	4/20/15 15:29	Approved	Completed
6	Seismic Bracing	3/31/15	D.Blackburn	3/31/15 11:50	Approved	Completed
7	Framing	3/13/15	D.Blackburn	3/13/15 9:42	Approved	Completed
8	Final Electrical	6/26/15	D.Rooney	6/26/15 13:29	Approved	Completed
9	Final Electrical	6/17/15	D.Rooney	6/17/15 11:19	Partial	Completed
10	Service	5/29/15	D.Rooney	5/29/15 11:30	Partial	Completed
11	Final Electrical	5/22/15	O.Burbridge	5/22/15 9:34	Correction	Completed
12	Final Electrical	5/5/15	D.Rooney	5/5/15 13:05	Partial	Completed
13	Ceiling Rough Electrical	4/30/15	D.Rooney	4/30/15 10:33	Partial	Completed
14	Concrete Encased Electrode	4/20/15	D.Rooney	4/20/15 9:51	Partial	Completed
15	Undergound Electrical	4/17/15	D.Rooney	4/17/15 11:52	Partial	Completed
16	Undergound Electrical	3/13/15	D.Rooney	3/13/15 10:41	Partial	Completed
17	Electrical Rough	3/12/15	D.Rooney	3/12/15 11:43	Partial	Completed
18	Refrigeration Final	6/8/15	Y.Dovba	6/8/15 11:03	Approved	Completed
19	Final Mechanical	5/11/15	Y.Dovba	5/11/15 9:23	Approved	Completed
20	Final Mechanical	5/7/15	Y.Dovba	5/8/15 8:19	Correction	Completed
21	Mechanical Rough	4/1/15	C.Thompson	4/1/15 8:45	Approved	Completed
22	Final Plumbing	6/5/15	Y.Dovba	6/5/15 12:29	Approved	Completed
23	Final Plumbing	5/5/15	Y.Dovba	5/5/15 14:46	Partial	Completed
24	Plumbing Rough	4/13/15	Y.Dovba	4/13/15 9:47	Partial	Completed
25	Plumbing Rough	4/10/15	J.Gadomski	4/10/15 15:35	Correction	Completed
26	Plumbing Rough	3/25/15	E.Huckaba	3/25/15 9:43	Partial	Completed

Number of Paid Inspections:	26	\$	150.00	\$3,900.00
Number of 1/2 Hour Inspections:	13	\$	75.00	-\$975.00
Number of Inspections Paid but not Completed:	0	-\$	150.00	\$0.00
		Tota	al Refund:	-\$975.00

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Fire Inspection	6/3/15	T.Furch	6/4/15 9:47	Approved	Completed
2	Final Structural	6/3/15	J.Stubbs	6/3/15 11:08	Approved	Completed
3	Framing	4/24/15	J.Stubbs	4/25/15 7:45	Approved	Completed
4	Final Fire Inspection	3/27/15	C.Torrey	3/27/15 13:21	Correction	Completed
5	Final Structural	3/27/15	D.Blackburn	3/27/15 10:07	Partial	Completed
6	Other Structural	3/25/15	D.Blackburn	3/25/15 9:21	Approved	Completed
7	Other Structural	3/2/15	B.Gilgus	3/2/15 11:52	Approved	Completed
8	Final Fire Inspection	2/27/15	R.Venta	2/27/15 16:17	Partial	Completed
9	Final Structural	2/27/15	J.Stubbs	2/27/15 11:20	Partial	Completed
10	Other Structural	2/24/15	D.Blackburn	2/24/15 10:35	Approved	Completed
11	Framing	2/11/15	D.Blackburn	2/11/15 13:50	Approved	Completed
12	Final Electrical	6/4/15		6/4/15 14:49	Approved	Completed
13	Final Electrical	3/3/15	D.Rooney	3/3/15 10:41	Partial	Completed
14	Final Electrical	2/23/15	D.Rooney	2/23/15 14:20	Partial	Completed
15	Electrical Rough	2/13/15	M.Green	2/13/15 12:48	Partial	Completed
16	Electrical Rough	2/11/15	M.Green	2/11/15 10:43	Partial	Completed
17	Final Mechanical	2/24/15	C.Thompson	2/24/15 8:56	Approved	Completed

Number of Paid Inspections:	16	\$	150.00	\$2,400.00
Number of 1/2 Hour Inspections:	8.5	\$	75.00	-\$637.50
Number of Inspections Paid but not Completed:	-1	-\$	150.00	\$150.00
	- 11:	Tota	al Refund:	-\$487.50

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Fire Inspection	6/17/15	T.Furch	6/17/15 13:31	Approved	Completed
2	Final Structural	6/17/15	H.Gwin	6/17/15 11:43	Approved	Completed
3	Ceiling / Act	3/20/15	J.Stubbs	3/20/15 12:56	Approved	Complete

Number of Paid Inspections:	3	\$	150.00	\$450.00
Number of 1/2 Hour Inspections:	1.5	\$	75.00	-\$112.50
Number of Inspections Paid but not Completed:	0	-\$	150.00	\$0.00
		Tota	al Refund:	-\$112.50

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Structural	5/22/15	H.Gwin	5/22/15 15:25	Approved	Completed
2	Final Fire Inspection	5/22/15	R.Venta	5/22/15 13:44	Approved	Completed
3	Ceiling / Act	5/4/15	J.Stubbs	5/4/15 15:19	Approved	Completed
4	Framing	4/17/15	J.Stubbs	4/17/15 12:15	Approved	Completed
5	Final Electrical	5/22/15	D.Rooney	5/22/15 9:44	Approved	Completed
6	Final Electrical	5/21/15	D.Rooney	5/21/15 10:04	Correction	Completed
- 7	Ceiling Rough Electrical	5/5/15	D.Rooney	5/5/15 9:30	Partial	Completed
8	Ceiling Rough Electrical	5/4/15	D.Rooney	5/4/15 12:54	Correction	Completed
9	Electrical Rough	4/20/15	D.Rooney	4/20/15 10:17	Partial	Completed
10	Final Mechanical	5/5/15	Y.Dovba	5/5/15 14:20	Approved	Completed

Number of Paid Inspections:	10	\$	150.00	\$1,500.00
Number of 1/2 Hour Inspections:	S	\$	75.00	-\$375.00
Number of Inspections Paid but not Completed:	0	-\$	150.00	\$0.00
	7 200	Tota	i Refund:	-\$375.00

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Ceiling / Act	2/17/15	D.Blackburn	2/17/15 13:43	Partial	Completed
2	Framing	1/29/15	D.Blackburn	1/29/15 12:56	Approved	Completed
3	Final Electrical	3/11/15	O.Burbridge	3/11/15 11:29	Approved	Completed
4	Electrical Rough	1/28/15	O.Burbridge	1/28/15 14:32	Partial	Completed
5	Final Mechanical	3/3/15	J.Gadomski	3/3/15 10:29	Approved	Completed

Number of Paid Inspections:	6	\$	150.00	\$900.00
Number of 1/2 Hour Inspections:	2.5	\$	75.00	-\$187.50
Number of Inspections Paid but not Completed:	_1	-\$	150.00	-\$150.00
		Tota	al Refund:	-\$337.50

Not Closed

[Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Structural	7/8/15	P.Calhoun	7/8/15 12:54	Approved	Completed
2	Final Fire Inspection	7/8/15	J.Gray	7/8/15 11:57	Approved	Completed
3	Ceiling / Act	6/22/15	P.Calhoun	6/22/15 15:55	Approved	Completed
4	Ceiling / Act	6/19/15	P.Calhoun	6/19/15 10:04	Approved	Completed
5	FireStopping	5/11/15	P.Calhoun	5/12/15 10:23	Approved	Completed
6	Framing / Int.	5/8/15	P.Calhoun	5/8/15 10:42	Correction	Completed
7	Framing / Int.	5/7/15	P.Calhoun	5/7/15 11:24	Correction	Completed
8	Final Electrical	7/22/15	O.Burbridge	7/22/15 15:37	Approved	Completed
9	Final Electrical	6/30/15	O.Burbridge	6/30/15 9:53	Correction	Completed
10	Ceiling Rough Electrical	6/23/15	O.Burbridge	6/23/15 10:48	Partial	Completed
11	Ceiling Rough Electrical	6/22/15	D.Rooney	6/22/15 9:54	Partial	Completed
12	Electrical Rough	5/5/15	O.Burbridge	5/5/15 11:27	Partial	Completed
13	Electrical Rough	4/30/15	O.Burbridge	4/30/15 13:57	Partial	Completed
14	Final Plumbing	7/6/15	C.Thompson	7/6/15 10:20	Approved	Completed
15	Plumbing Rough	5/12/15	C.Thompson	5/12/15 10:05	Approved	Completed
16	Final Mechanical	6/9/15	Y.Dovba	6/9/15 12:16	Approved	Completed
17	Mechanical Rough	5/7/15	Y.Dovba	5/8/15 6:45	Approved	Completed

Number of Paid Inspections:	18	\$	150.00	\$2,700.00
Number of 1/2 Hour Inspections:	8.5	\$	75.00	-\$637.50
Number of Inspections Paid but not Completed:	1	-\$	150.00	-\$150.00
		Tota	al Refund:	-\$787.50

1 refund

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1[Ceiling / Act	4/28/15	J.Stubbs	4/28/15 8:43	Approved	Completed
2	Ceiling / Act	4/20/15	J.Stubbs	4/20/15 15:39	Approved	Completed
3	Final Fire Inspection	9/2/15	C.Torrey	9/2/15 15:40	Approved	Completed
4	Final Fire Inspection	7/30/15	C.Torrey	7/30/15 17:16	Partial	Completed
5	Final Structural	7/30/15	J.Stubbs	7/30/15 9:33	Approved	Completed
6	Final Plumbing	7/14/15	K.Hanson	7/14/15 8:19	Approved	Completed
7[Plumbing Rough	7/10/15	K.Hanson	7/10/15 7:52	Approved	Completed
- 8[Plumbing Rough	4/22/15	R.Larson	4/22/15 9:24	Partial	Completed
9[Plumbing Rough	4/20/15	C.Thompson	4/20/15 9:17	Partial	Completed
10	Final Electrical	6/15/15	O.Burbridge	6/15/15 9:31	Approved	Completed
11	Ceiling Rough Electrical	4/28/15	D.Rooney	4/28/15 11:14	Partial	Completed
12	Final Electrical	4/21/15	O.Burbridge	4/21/15 12:03	Partial	Completed
13	Final Electrical	4/20/15	D.Rooney	4/20/15 9:35	Partial	Completed
14	Final Mechanical	9/4/15	K.Hanson	9/4/15 8:04	Approved	Completed

Number of Paid Inspections:	14	\$	150.00	\$2,100.00
Number of 1/2 Hour Inspections:	7	\$	75.00	-\$525.00
Number of Inspections Paid but not Completed:	0	-\$	150.00	\$0.00
		Tota	al Refund:	-\$525.00

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Framing / Int.	7/14/15	D.Biackburn	7/14/15 9:13	Approved	Completed
2	Final Structural	7/29/15	D.Blackburn	7/29/15 11:51	Approved	Completed
3	Final Fire Inspection	7/29/15	C.Torrey	7/29/15 7:31	Approved	Completed

Number of Paid Inspections:	5	\$	150.00	\$750.00
Number of 1/2 Hour Inspections:	1.5	\$	75.00	-\$112.50
Number of Inspections Paid but not Completed:	2	-\$	150.00	-\$300.00
		Tota	al Refund:	-\$412.50

2 refunds

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1[Ceiling / Act	7/17/15	D.Blackburn	7/17/15 14:38	Approved	Completed
2	Framing	7/10/15	D.Blackburn	7/10/15 13:48	Approved	Completed
3	Framing / Int.	7/2/15	D.Blackburn	7/2/15 14:09	Approved	Completed
4	Final Structural	12/2/15	J.Stubbs	12/2/15 14:38	Approved	Completed
5[Final Fire Inspection	7/27/15	C.Torrey	8/27/15 7:24	Approved	Completed
6	Final Fire Inspection	8/20/15	C.Torrey	8/20/15 16:24	Approved	Completed
7[Final Structural	8/20/15	D.Blackburn	8/20/15 14:55	Partial	Completed
8	Ceiling / Act	8/14/15	D.Blackburn	8/14/15 8:45	Approved	Completed
9	Final Structural	8/13/15	D.Blackburn	8/13/15 13:59	Correction	Completed
10	Framing	8/5/15	J.Bergstrom	8/6/15 9:35	Approved	Completed
11	Final Structural	7/24/15	J.Stubbs	7/24/15 18:21	Partial	Completed
12	Final Structural	7/24/15	H.Gwin	7/24/15 17:00	Correction	Completed
13	Final Fire Inspection	7/24/15	C.Torrey	7/24/15 16:44	Partial	Completed
14	Final Electrical	8/19/15	D.Rooney	8/19/15 9:49	Approved	Completed
15	Final Electrical	8/17/15	D.Rooney	8/17/15 14:32	Partial	Completed
16	Electrical Rough	8/13/15	D.Rooney	8/13/15 13:51	Partial	Completed
17	Electrical Rough	8/5/15	D.Rooney	8/5/15 10:47	Partial	Completed
18	Final Electrical	7/23/15	D.Rooney	7/23/15 15:14	Partial	Completed
19	Electrical Rough	7/20/15	D.Rooney	7/20/15 14:02	Correction	Completed
20	Electrical Rough	7/9/15	D.Rooney	7/9/15 13:44	Partial	Completed
21	Electrical Rough	7/2/15	D.Rooney	7/2/15 13:21	Partial	Completed
22	Final Mechanical	8/13/15	K.Hanson	8/13/15 15:15	Approved	Completed
23	Mechanical Rough	8/4/15	K.Hanson	8/4/15 14:56	Partial	Completed
24	Mechanical Rough	7/17/15	K.Hanson	7/17/15 14:39	Partial	Completed
25	Mechanical Rough	7/10/15	K.Hanson	7/10/15 11:42	Partial	Completed
26	Final Plumbing	8/19/15	K.Hanson	8/19/15 8:46	Approved	Completed
27	Plumbing Rough	8/5/15	E.Huckaba	8/5/15 14:08	Approved	Completed
28	Final Plumbing	7/23/15	K.Hanson	7/23/15 15:12	Partial	Completed
[Plumbing Rough	7/10/15	K.Hanson	7/10/15 11:36	Partial	Completed
29	Plumbing Rough	7/2/15	K.Hanson	7/2/15 15:11	Partial	Completed
30[Plumbing Rough	7/1/15	K.Hanson	7/1/15 14:38	Partial	Completed

Number of Paid Inspections:	31	\$	150.00	\$4,650.00
Number of 1/2 Hour inspections:	15	\$	75.00	-\$1,125.00
Number of Inspections Paid but not Completed:	1	-\$	150.00	-\$150.00
		Tota	al Refund:	-\$1,275.00

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Framing	7/14/15	D.Blackburn	7/14/15 11:14	Approved	Completed
2	Final Structural	8/17/15	D.Blackburn	8/17/15 10:30	Approved	Completed
3	Final Fire Inspection	8/17/15	T.Furch	8/17/15 0:00	Approved	Completed
4	Ceiling / Act	8/5/15	D.Blackburn	8/5/15 12:17	Approved	Completed
5	Framing	8/3/15	D.Blackburn	8/3/15 9:47	Approved	Completed
6	Final Electrical	8/18/15	O.Burbridge	8/18/15 14:03	Approved	Completed
7	Final Electrical	8/5/15	O.Burbridge	8/5/15 15:59	Partial	Completed
8	Ceiling Rough Electrical	8/4/15	O.Burbridge	8/4/15 14:00	Partial	Completed
	Ceiling Rough Electrical	8/3/15	O.Burbridge	8/3/15 15:42	Cancel	Completed
9	Final Electrical	7/30/15	O.Burbridge	7/30/15 17:21	Partial	Completed
10	Electrical Rough	7/24/15	D.Rooney	7/24/15 13:38	Partial	Completed
11[Electrical Rough	7/23/15	O.Burbridge	7/23/15 15:54	Partial	Completed
12[Electrical Rough	7/21/15	O.Burbridge	7/21/15 11:16	Partial	Completed
13	Electrical Rough	7/14/15	D.Rooney	7/14/15 11:59	Partial	Completed
14[Final Mechanical	7/29/15	K.Hanson	7/29/15 9:08	Approved	Completed

Number of Paid Inspections:	17	\$	150.00	\$2,550.00
Number of 1/2 Hour Inspections:	7	\$	75.00	-\$525.00
Number of Inspections Paid but not Completed:	3	-\$	150.00	-\$450.00
		Tota	al Refund:	-\$975.00

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Framing / Int.	6/16/15	J.Stubbs	6/16/15 10:58	Approved	Completed
2	Final Fire Inspection	7/31/15	C.Torrey	7/31/15 9:53	Approved	Completed
3	Final Fire Inspection	7/24/15	C.Torrey	7/24/15 16:28	CondAppr	Completed
4	Final Structural	7/24/15	D.Blackburn	7/24/15 14:24	Approved	Completed
5	Final Mechanical	7/10/15	K.Hanson	7/10/15 10:08	Approved	Completed
6	Mechanical Rough	6/23/15	Y.Dovba	6/23/15 11:49	Approved	Completed
7	Plumbing Rough	7/8/15	K.Hanson	7/8/15 10:08	Approved	Completed
	Final Plumbing			7/8/15 0:00	Approved	Completed
8	Plumbing Rough	6/24/15	Y.Dovba	6/24/15 8:56	Partial	Completed
9	Final Electrical	7/27/15	O.Burbridge	7/27/15 15:14	Approved	Completed
10	Final Electrical	7/24/15	D.Rooney	7/24/15 12:22	Correction	Completed

Number of Paid Inspections:	12	\$	150.00	\$1,800.00
Number of 1/2 Hour Inspections:	5	\$	75.00	-\$375.00
Number of Inspections Paid but not Completed:	2	-\$	150.00	-\$300.00
		Tota	al Refund:	-\$675.00

	Inspection Type	Scheduled	Assigned To	Completed Date	Result	Status
1	Final Zoning	7/13/15	S.Turner	7/13/15 0:00 Approve		Completed
2	Final Fire Inspection	7/10/15	J.Gray	7/10/15 16:09	Approved	Completed
3	Final Structural	7/10/15	D.Hickel	7/10/15 13:20	Approved	Completed
4	Final Electrical	6/29/15	D.Rooney	6/29/15 13:39	Correction	Completed
5	Framing / Int.	5/19/15	H.Gwin	5/19/15 12:19	Approved	Completed
6	Framing / Int.	5/14/15	H.Gwin	5/14/15 9:33	Correction	Completed
7	Final Plumbing	7/9/15	K.Hanson	7/9/15 8:30	Approved	Completed
8	Plumbing Rough	5/14/15	R.Larson	5/14/15 9:28	Partial	Completed
9	Underground Plumbing	5/4/15	E.Huckaba	5/4/15 9:33	Approved	Completed
10	Final Mechanical	7/14/15	K.Hanson	7/14/15 8:47	Approved	Completed
11	Mechanical Rough	5/29/15	E.Huckaba	5/29/15 12:49	Approved	Completed
12	Final Electrical	7/2/15	M.Green	7/2/15 10:02	Approved	Completed
13	Final Electrical	6/30/15	M.Green	6/30/15 13:13	Correction	Completed
14	Final Electrical	6/29/15	D.Rooney	6/29/15 16:14	Correction	Completed
15	Wall Rough Electrical	5/18/15	M.Green	5/18/15 8:50	Approved	Completed

Number of Paid Inspections:	16	\$	150.00	\$2,400.00
Number of 1/2 Hour Inspections:	7.5	\$	75.00	-\$562.50
Number of inspections Paid but not Completed:	1	-\$	150.00	-\$150.00
		Tota	al Refund:	-\$712.50